
Year 5 Homework A – 24th November 2023

Multiplication

Reasoning Factors

6 x 2 = .

4 x 4 = .

12 x 6 = .

2 x 8 = .

10 x 11 = .

12 x 8 = .

1 x 3 = .

7 x 3 = .

60 ÷ 12 = .

77 ÷ 7 = .

36 ÷ 9 = .

10 ÷ 1 = .

Time

Remember to also have a go at TTRS, Spelling Shed and Lexia (if you 
have it)! All links are on the class page.

Forgotten your login? Let me know!Multiples

Maddie has sorted the factors of 6 and 
15 into a Venn diagram. Spot the 
mistake she has made.

Place the numbers into the correct part of the 
table. Are there any numbers which can go in 
more than one column?

12, 6, 27, 4, 15, 24, 18, 25, 10, 9
Complete the Venn diagram using factors of 24 
and 54.
Remember: Use your factor bugs first.

Do you agree with Helen or Roy? Explain your answer.
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